
RFQ Quotes Received 9 Invited Suppliers 38

Close Date Active Quotes 9 Intent to Participate 9

RFQ Currency Shortlisted Quotes 9 Responded 9

Line Summary AWARD 13113 No

Unit Quantity

Quote 

Quantity

Award 

Quantity Rank

Kit 42

Kit 42

Kit 42

Kit 42

Kit 42

Kit 42

Kit 42

Kit 42

Kit 42

Each 10 10 10 1

Each 10 10 2

Each 10 10 3

Each 10 10 4

Each 10

Each 10

Each 10

Each 10

Each 10

Each 10 10 10 1

Each 10 10 2

Each 10 10 3

Each 10 10 4

Each 10

Each 10

Each 10

Each 10

Each 10

Piece 30 30 30 1

Piece 30 30 2

Piece 30 30 3

Piece 30

Piece 30

Piece 30

Piece 30

Piece 30

Piece 30

Piece 50 50 1

Piece 50 50 50 2

Piece 50 50 3

Piece 50 50 4

Piece 50

Piece 50

Piece 50

Piece 50

Piece 50

Piece 50 50 1

Piece 50 50 50 2

Piece 50 50 3

Piece 50

Piece 506 SEAL:RED .066-.079 ID. 071623 Battery Service Corporation

6 SEAL:RED .066-.079 ID. 071623 A&A Auto Parts Stores Inc

6 SEAL:RED .066-.079 ID. 071623 Illinois Auto Central 1.06

6 SEAL:RED .066-.079 ID. 071623 The Aftermarket Parts Company LLC 0.11

6 SEAL:RED .066-.079 ID. 071623 Mohawk Manufacturing and Supply Co unapproved part 0.06

5 SEAL:RED .066-.079 ID. 071623 P&G Keene Elec Rebuilder

5 SEAL:RED .066-.079 ID. 071623 Muncie Transit Supply

5 SEAL:RED .066-.079 ID. 071623 Kirk's Automotive Inc

5 SEAL:RED .066-.079 ID. 071623 Battery Service Corporation

5 SEAL:RED .066-.079 ID. 071623 A&A Auto Parts Stores Inc

5 SEAL:RED .066-.079 ID. 071623 Neopart Transit LLC 3

5 SEAL:RED .066-.079 ID. 071623 Illinois Auto Central 1.06

5 SEAL:RED .066-.079 ID. 071623 The Aftermarket Parts Company LLC 0.11

5 SEAL:RED .066-.079 ID. 071623 Mohawk Manufacturing and Supply Co unapproved part 0.06

4 LAMP: LED AMBER, SIDE CLEA 072143 P&G Keene Elec Rebuilder

4 LAMP: LED AMBER, SIDE CLEA 072143 Mohawk Manufacturing and Supply Co

4 LAMP: LED AMBER, SIDE CLEA 072143 Kirk's Automotive Inc

4 LAMP: LED AMBER, SIDE CLEA 072143 Illinois Auto Central

4 LAMP: LED AMBER, SIDE CLEA 072143 Battery Service Corporation

4 LAMP: LED AMBER, SIDE CLEA 072143 A&A Auto Parts Stores Inc

4 LAMP: LED AMBER, SIDE CLEA 072143 The Aftermarket Parts Company LLC 15.23

4 LAMP: LED AMBER, SIDE CLEA 072143 Muncie Transit Supply 13.7

4 LAMP: LED AMBER, SIDE CLEA 072143 Neopart Transit LLC 12.18

3 HORN:HI NOTE, 80 DB 071441 P&G Keene Elec Rebuilder

3 HORN:HI NOTE, 80 DB 071441 Neopart Transit LLC

3 HORN:HI NOTE, 80 DB 071441 Illinois Auto Central

3 HORN:HI NOTE, 80 DB 071441 Battery Service Corporation

3 HORN:HI NOTE, 80 DB 071441 A&A Auto Parts Stores Inc

3 HORN:HI NOTE, 80 DB 071441 The Aftermarket Parts Company LLC 15.14

3 HORN:HI NOTE, 80 DB 071441 Kirk's Automotive Inc 7.85

3 HORN:HI NOTE, 80 DB 071441 Mohawk Manufacturing and Supply Co 7.6

3 HORN:HI NOTE, 80 DB 071441 Muncie Transit Supply 6.65

2 HORN:HI NOTE, 80 DB 071441 P&G Keene Elec Rebuilder

2 HORN:HI NOTE, 80 DB 071441 Neopart Transit LLC

2 HORN:HI NOTE, 80 DB 071441 Illinois Auto Central

2 HORN:HI NOTE, 80 DB 071441 Battery Service Corporation

2 HORN:HI NOTE, 80 DB 071441 A&A Auto Parts Stores Inc

2 HORN:HI NOTE, 80 DB 071441 The Aftermarket Parts Company LLC 15.14

2 HORN:HI NOTE, 80 DB 071441 Kirk's Automotive Inc 7.85

2 HORN:HI NOTE, 80 DB 071441 Mohawk Manufacturing and Supply Co 7.6

2 HORN:HI NOTE, 80 DB 071441 Muncie Transit Supply 6.65

1 BUTTON:DRIVER'S HORN (ORDER SKU 0710439 WITH THIS PART)072125 The Aftermarket Parts Company LLC

1 BUTTON:DRIVER'S HORN (ORDER SKU 0710439 WITH THIS PART)072125 P&G Keene Elec Rebuilder

1 BUTTON:DRIVER'S HORN (ORDER SKU 0710439 WITH THIS PART)072125 Neopart Transit LLC

1 BUTTON:DRIVER'S HORN (ORDER SKU 0710439 WITH THIS PART)072125 Muncie Transit Supply

1 BUTTON:DRIVER'S HORN (ORDER SKU 0710439 WITH THIS PART)072125 Mohawk Manufacturing and Supply Co

1 BUTTON:DRIVER'S HORN (ORDER SKU 0710439 WITH THIS PART)072125 Kirk's Automotive Inc

1 BUTTON:DRIVER'S HORN (ORDER SKU 0710439 WITH THIS PART)072125 Illinois Auto Central

1 BUTTON:DRIVER'S HORN (ORDER SKU 0710439 WITH THIS PART)072125 Battery Service Corporation

1 BUTTON:DRIVER'S HORN (ORDER SKU 0710439 WITH THIS PART)072125 A&A Auto Parts Stores Inc

Line Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: RFQ 13113 - Bus Parts

13113

10/30/2023 10:00

USD

1



RFQ Quotes Received 9 Invited Suppliers 38

Close Date Active Quotes 9 Intent to Participate 9

RFQ Currency Shortlisted Quotes 9 Responded 9

Line Summary AWARD 13113 No

Unit Quantity

Quote 

Quantity

Award 

Quantity RankLine Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: RFQ 13113 - Bus Parts

13113

10/30/2023 10:00

USD

Piece 50

Piece 50

Piece 50

Piece 50

Piece 100 100 100 1

Piece 100 100 2

Piece 100 100 3

Piece 100

Piece 100

Piece 100

Piece 100

Piece 100

Piece 100

Each 3 3 3 1

Each 3 3 2

Each 3 3 3

Each 3 3 4

Each 3

Each 3

Each 3

Each 3

Each 3

Each 6 6 6 1

Each 6 6 2

Each 6 6 3

Each 6 6 4

Each 6

Each 6

Each 6

Each 6

Each 6

Piece 4

Piece 4

Piece 4

Piece 4

Piece 4

Piece 4

Piece 4

Piece 4

Piece 4

Piece 10 10 10 1

Piece 10 10 2

Piece 10

Piece 10

Piece 10

Piece 10

Piece 10

Piece 10

Piece 10

Assembly 212 HARNESS:HEADLIGHT WITH CONNECTORS AND PINS072203 A&A Auto Parts Stores Inc

11 SWITCH:KNEELER 20PSI 072162 P&G Keene Elec Rebuilder

11 SWITCH:KNEELER 20PSI 072162 Neopart Transit LLC

11 SWITCH:KNEELER 20PSI 072162 Mohawk Manufacturing and Supply Co

11 SWITCH:KNEELER 20PSI 072162 Kirk's Automotive Inc

11 SWITCH:KNEELER 20PSI 072162 Illinois Auto Central

11 SWITCH:KNEELER 20PSI 072162 Battery Service Corporation

11 SWITCH:KNEELER 20PSI 072162 A&A Auto Parts Stores Inc

11 SWITCH:KNEELER 20PSI 072162 The Aftermarket Parts Company LLC 70.41

11 SWITCH:KNEELER 20PSI 072162 Muncie Transit Supply 38.48

10 SWITCH:KNEELING 072144 The Aftermarket Parts Company LLC

10 SWITCH:KNEELING 072144 P&G Keene Elec Rebuilder

10 SWITCH:KNEELING 072144 Neopart Transit LLC

10 SWITCH:KNEELING 072144 Muncie Transit Supply

10 SWITCH:KNEELING 072144 Mohawk Manufacturing and Supply Co

10 SWITCH:KNEELING 072144 Kirk's Automotive Inc

10 SWITCH:KNEELING 072144 Illinois Auto Central

10 SWITCH:KNEELING 072144 Battery Service Corporation

10 SWITCH:KNEELING 072144 A&A Auto Parts Stores Inc

9 HORN:LOW NOTE, 80 DB 12V ,1 OR 2 TERMINALS071442 P&G Keene Elec Rebuilder

9 HORN:LOW NOTE, 80 DB 12V ,1 OR 2 TERMINALS071442 Neopart Transit LLC

9 HORN:LOW NOTE, 80 DB 12V ,1 OR 2 TERMINALS071442 Illinois Auto Central

9 HORN:LOW NOTE, 80 DB 12V ,1 OR 2 TERMINALS071442 Battery Service Corporation

9 HORN:LOW NOTE, 80 DB 12V ,1 OR 2 TERMINALS071442 A&A Auto Parts Stores Inc

9 HORN:LOW NOTE, 80 DB 12V ,1 OR 2 TERMINALS071442 The Aftermarket Parts Company LLC 15.14

9 HORN:LOW NOTE, 80 DB 12V ,1 OR 2 TERMINALS071442 Kirk's Automotive Inc 12.2

9 HORN:LOW NOTE, 80 DB 12V ,1 OR 2 TERMINALS071442 Mohawk Manufacturing and Supply Co 7.3

9 HORN:LOW NOTE, 80 DB 12V ,1 OR 2 TERMINALS071442 Muncie Transit Supply 7.1

8 HORN:LOW NOTE, 80 DB 12V ,1 OR 2 TERMINALS071442 P&G Keene Elec Rebuilder

8 HORN:LOW NOTE, 80 DB 12V ,1 OR 2 TERMINALS071442 Neopart Transit LLC

8 HORN:LOW NOTE, 80 DB 12V ,1 OR 2 TERMINALS071442 Illinois Auto Central

8 HORN:LOW NOTE, 80 DB 12V ,1 OR 2 TERMINALS071442 Battery Service Corporation

8 HORN:LOW NOTE, 80 DB 12V ,1 OR 2 TERMINALS071442 A&A Auto Parts Stores Inc

8 HORN:LOW NOTE, 80 DB 12V ,1 OR 2 TERMINALS071442 The Aftermarket Parts Company LLC 15.14

8 HORN:LOW NOTE, 80 DB 12V ,1 OR 2 TERMINALS071442 Kirk's Automotive Inc 12.2

8 HORN:LOW NOTE, 80 DB 12V ,1 OR 2 TERMINALS071442 Mohawk Manufacturing and Supply Co 7.3

8 HORN:LOW NOTE, 80 DB 12V ,1 OR 2 TERMINALS071442 Muncie Transit Supply 7.1

7 TERMINAL:FEMALE14-16 GAUGE 071100 P&G Keene Elec Rebuilder

7 TERMINAL:FEMALE14-16 GAUGE 071100 Neopart Transit LLC

7 TERMINAL:FEMALE14-16 GAUGE 071100 Kirk's Automotive Inc

7 TERMINAL:FEMALE14-16 GAUGE 071100 Illinois Auto Central

7 TERMINAL:FEMALE14-16 GAUGE 071100 Battery Service Corporation

7 TERMINAL:FEMALE14-16 GAUGE 071100 A&A Auto Parts Stores Inc

7 TERMINAL:FEMALE14-16 GAUGE 071100 Muncie Transit Supply 0.15

7 TERMINAL:FEMALE14-16 GAUGE 071100 Mohawk Manufacturing and Supply Co 0.08

7 TERMINAL:FEMALE14-16 GAUGE 071100 The Aftermarket Parts Company LLC 0.08

6 SEAL:RED .066-.079 ID. 071623 P&G Keene Elec Rebuilder

6 SEAL:RED .066-.079 ID. 071623 Neopart Transit LLC

6 SEAL:RED .066-.079 ID. 071623 Muncie Transit Supply

6 SEAL:RED .066-.079 ID. 071623 Kirk's Automotive Inc

2



RFQ Quotes Received 9 Invited Suppliers 38

Close Date Active Quotes 9 Intent to Participate 9

RFQ Currency Shortlisted Quotes 9 Responded 9

Line Summary AWARD 13113 No

Unit Quantity

Quote 

Quantity

Award 

Quantity RankLine Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: RFQ 13113 - Bus Parts

13113

10/30/2023 10:00

USD

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 3 3 3 1

Assembly 3

Assembly 3

Assembly 3

Assembly 3

Assembly 3

Assembly 3

Assembly 3

Assembly 3

Assembly 4 4 4 1

Assembly 4

Assembly 4

Assembly 4

Assembly 4

Assembly 4

Assembly 4

Assembly 4

Assembly 4

Each 20 20 1

Each 20 20 20 2

Each 20 20 3

Each 20

Each 20

Each 20

Each 20

Each 20

Each 20

Piece 2 2 2 1

Piece 2 2 2

Piece 2

Piece 2

Piece 2

Piece 217 SWITCH:PARKING BRAKE 20PSI,N/C 2 WIRE072295 Kirk's Automotive Inc

17 SWITCH:PARKING BRAKE 20PSI,N/C 2 WIRE072295 Illinois Auto Central

17 SWITCH:PARKING BRAKE 20PSI,N/C 2 WIRE072295 Battery Service Corporation

17 SWITCH:PARKING BRAKE 20PSI,N/C 2 WIRE072295 A&A Auto Parts Stores Inc

17 SWITCH:PARKING BRAKE 20PSI,N/C 2 WIRE072295 The Aftermarket Parts Company LLC 63.06

17 SWITCH:PARKING BRAKE 20PSI,N/C 2 WIRE072295 Muncie Transit Supply 35.99

16 SWITCH:DIMMER-HEADLIGHT, FLOOR MOUNT072255 P&G Keene Elec Rebuilder

16 SWITCH:DIMMER-HEADLIGHT, FLOOR MOUNT072255 Neopart Transit LLC

16 SWITCH:DIMMER-HEADLIGHT, FLOOR MOUNT072255 Kirk's Automotive Inc

16 SWITCH:DIMMER-HEADLIGHT, FLOOR MOUNT072255 Illinois Auto Central

16 SWITCH:DIMMER-HEADLIGHT, FLOOR MOUNT072255 Battery Service Corporation

16 SWITCH:DIMMER-HEADLIGHT, FLOOR MOUNT072255 A&A Auto Parts Stores Inc

16 SWITCH:DIMMER-HEADLIGHT, FLOOR MOUNT072255 The Aftermarket Parts Company LLC 31.25

16 SWITCH:DIMMER-HEADLIGHT, FLOOR MOUNT072255 Muncie Transit Supply 16.79

16 SWITCH:DIMMER-HEADLIGHT, FLOOR MOUNT072255 Mohawk Manufacturing and Supply Co unapproved part number 6.21

15 THROTTLE:DRIVER'S WITH PEDAL 2008 CUMMINS ENGINE072216 P&G Keene Elec Rebuilder

15 THROTTLE:DRIVER'S WITH PEDAL 2008 CUMMINS ENGINE072216 Neopart Transit LLC

15 THROTTLE:DRIVER'S WITH PEDAL 2008 CUMMINS ENGINE072216 Muncie Transit Supply

15 THROTTLE:DRIVER'S WITH PEDAL 2008 CUMMINS ENGINE072216 Mohawk Manufacturing and Supply Co

15 THROTTLE:DRIVER'S WITH PEDAL 2008 CUMMINS ENGINE072216 Kirk's Automotive Inc

15 THROTTLE:DRIVER'S WITH PEDAL 2008 CUMMINS ENGINE072216 Illinois Auto Central

15 THROTTLE:DRIVER'S WITH PEDAL 2008 CUMMINS ENGINE072216 Battery Service Corporation

15 THROTTLE:DRIVER'S WITH PEDAL 2008 CUMMINS ENGINE072216 A&A Auto Parts Stores Inc

15 THROTTLE:DRIVER'S WITH PEDAL 2008 CUMMINS ENGINE072216 The Aftermarket Parts Company LLC 285.27

14 THROTTLE:DRIVER'S WITH PEDAL 2008 CUMMINS ENGINE072216 P&G Keene Elec Rebuilder

14 THROTTLE:DRIVER'S WITH PEDAL 2008 CUMMINS ENGINE072216 Neopart Transit LLC

14 THROTTLE:DRIVER'S WITH PEDAL 2008 CUMMINS ENGINE072216 Muncie Transit Supply

14 THROTTLE:DRIVER'S WITH PEDAL 2008 CUMMINS ENGINE072216 Mohawk Manufacturing and Supply Co

14 THROTTLE:DRIVER'S WITH PEDAL 2008 CUMMINS ENGINE072216 Kirk's Automotive Inc

14 THROTTLE:DRIVER'S WITH PEDAL 2008 CUMMINS ENGINE072216 Illinois Auto Central

14 THROTTLE:DRIVER'S WITH PEDAL 2008 CUMMINS ENGINE072216 Battery Service Corporation

14 THROTTLE:DRIVER'S WITH PEDAL 2008 CUMMINS ENGINE072216 A&A Auto Parts Stores Inc

14 THROTTLE:DRIVER'S WITH PEDAL 2008 CUMMINS ENGINE072216 The Aftermarket Parts Company LLC 285.27

13 HARNESS:HEADLIGHT WITH CONNECTORS AND PINS072203 The Aftermarket Parts Company LLC

13 HARNESS:HEADLIGHT WITH CONNECTORS AND PINS072203 P&G Keene Elec Rebuilder

13 HARNESS:HEADLIGHT WITH CONNECTORS AND PINS072203 Neopart Transit LLC

13 HARNESS:HEADLIGHT WITH CONNECTORS AND PINS072203 Muncie Transit Supply

13 HARNESS:HEADLIGHT WITH CONNECTORS AND PINS072203 Mohawk Manufacturing and Supply Co

13 HARNESS:HEADLIGHT WITH CONNECTORS AND PINS072203 Kirk's Automotive Inc

13 HARNESS:HEADLIGHT WITH CONNECTORS AND PINS072203 Illinois Auto Central

13 HARNESS:HEADLIGHT WITH CONNECTORS AND PINS072203 Battery Service Corporation

13 HARNESS:HEADLIGHT WITH CONNECTORS AND PINS072203 A&A Auto Parts Stores Inc

12 HARNESS:HEADLIGHT WITH CONNECTORS AND PINS072203 The Aftermarket Parts Company LLC

12 HARNESS:HEADLIGHT WITH CONNECTORS AND PINS072203 P&G Keene Elec Rebuilder

12 HARNESS:HEADLIGHT WITH CONNECTORS AND PINS072203 Neopart Transit LLC

12 HARNESS:HEADLIGHT WITH CONNECTORS AND PINS072203 Muncie Transit Supply

12 HARNESS:HEADLIGHT WITH CONNECTORS AND PINS072203 Mohawk Manufacturing and Supply Co

12 HARNESS:HEADLIGHT WITH CONNECTORS AND PINS072203 Kirk's Automotive Inc

12 HARNESS:HEADLIGHT WITH CONNECTORS AND PINS072203 Illinois Auto Central

12 HARNESS:HEADLIGHT WITH CONNECTORS AND PINS072203 Battery Service Corporation

3



RFQ Quotes Received 9 Invited Suppliers 38

Close Date Active Quotes 9 Intent to Participate 9

RFQ Currency Shortlisted Quotes 9 Responded 9

Line Summary AWARD 13113 No

Unit Quantity

Quote 

Quantity

Award 

Quantity RankLine Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: RFQ 13113 - Bus Parts

13113

10/30/2023 10:00

USD

Piece 2

Piece 2

Piece 2

Piece 32 32 32 1

Piece 32 32 2

Piece 32 32 3

Piece 32 32 4

Piece 32

Piece 32

Piece 32

Piece 32

Piece 32

Piece 67 67 67 1

Piece 67 67 2

Piece 67 67 3

Piece 67 67 4

Piece 67

Piece 67

Piece 67

Piece 67

Piece 67

Piece 20 20 20 1

Piece 20 20 2

Piece 20 20 3

Piece 20 20 4

Piece 20

Piece 20

Piece 20

Piece 20

Piece 20

Piece 3

Piece 3

Piece 3

Piece 3

Piece 3

Piece 3

Piece 3

Piece 3

Piece 3

Assembly 2 2 2 1

Assembly 2 2 2

Assembly 2 2 3

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 2 2 2 1

Assembly 2 2 223 ALTERNATOR: NEW ENGINE WITH CABLE CLAMP,PULLEY,REGULATOR ALTERNATOR0710052 Kirk's Automotive Inc 2850

23 ALTERNATOR: NEW ENGINE WITH CABLE CLAMP,PULLEY,REGULATOR ALTERNATOR0710052 P&G Keene Elec Rebuilder 2685

22 ALTERNATOR: NEW ENGINE WITH CABLE CLAMP,PULLEY,REGULATOR ALTERNATOR0710052 The Aftermarket Parts Company LLC

22 ALTERNATOR: NEW ENGINE WITH CABLE CLAMP,PULLEY,REGULATOR ALTERNATOR0710052 Neopart Transit LLC

22 ALTERNATOR: NEW ENGINE WITH CABLE CLAMP,PULLEY,REGULATOR ALTERNATOR0710052 Mohawk Manufacturing and Supply Co

22 ALTERNATOR: NEW ENGINE WITH CABLE CLAMP,PULLEY,REGULATOR ALTERNATOR0710052 Illinois Auto Central

22 ALTERNATOR: NEW ENGINE WITH CABLE CLAMP,PULLEY,REGULATOR ALTERNATOR0710052 Battery Service Corporation

22 ALTERNATOR: NEW ENGINE WITH CABLE CLAMP,PULLEY,REGULATOR ALTERNATOR0710052 A&A Auto Parts Stores Inc

22 ALTERNATOR: NEW ENGINE WITH CABLE CLAMP,PULLEY,REGULATOR ALTERNATOR0710052 Muncie Transit Supply 3097.88

22 ALTERNATOR: NEW ENGINE WITH CABLE CLAMP,PULLEY,REGULATOR ALTERNATOR0710052 Kirk's Automotive Inc 2850

22 ALTERNATOR: NEW ENGINE WITH CABLE CLAMP,PULLEY,REGULATOR ALTERNATOR0710052 P&G Keene Elec Rebuilder 2685

21 MICROPHONE:BOOM MIC 36" EXTENSION W/O PREAMP AUDIO MICROPHONE0710008 The Aftermarket Parts Company LLC

21 MICROPHONE:BOOM MIC 36" EXTENSION W/O PREAMP AUDIO MICROPHONE0710008 P&G Keene Elec Rebuilder

21 MICROPHONE:BOOM MIC 36" EXTENSION W/O PREAMP AUDIO MICROPHONE0710008 Neopart Transit LLC

21 MICROPHONE:BOOM MIC 36" EXTENSION W/O PREAMP AUDIO MICROPHONE0710008 Muncie Transit Supply

21 MICROPHONE:BOOM MIC 36" EXTENSION W/O PREAMP AUDIO MICROPHONE0710008 Mohawk Manufacturing and Supply Co

21 MICROPHONE:BOOM MIC 36" EXTENSION W/O PREAMP AUDIO MICROPHONE0710008 Kirk's Automotive Inc

21 MICROPHONE:BOOM MIC 36" EXTENSION W/O PREAMP AUDIO MICROPHONE0710008 Illinois Auto Central

21 MICROPHONE:BOOM MIC 36" EXTENSION W/O PREAMP AUDIO MICROPHONE0710008 Battery Service Corporation

21 MICROPHONE:BOOM MIC 36" EXTENSION W/O PREAMP AUDIO MICROPHONE0710008 A&A Auto Parts Stores Inc

20 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 P&G Keene Elec Rebuilder

20 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Neopart Transit LLC

20 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Muncie Transit Supply

20 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Mohawk Manufacturing and Supply Co

20 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Illinois Auto Central

20 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 The Aftermarket Parts Company LLC 595.75

20 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 A&A Auto Parts Stores Inc 408

20 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Kirk's Automotive Inc 385

20 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Battery Service Corporation 338.97

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 P&G Keene Elec Rebuilder

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Neopart Transit LLC

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Muncie Transit Supply

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Mohawk Manufacturing and Supply Co

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Illinois Auto Central

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 The Aftermarket Parts Company LLC 595.75

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 A&A Auto Parts Stores Inc 408

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Kirk's Automotive Inc 385

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Battery Service Corporation 338.97

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 P&G Keene Elec Rebuilder

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Neopart Transit LLC

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Muncie Transit Supply

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Mohawk Manufacturing and Supply Co

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Illinois Auto Central

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 The Aftermarket Parts Company LLC 595.75

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 A&A Auto Parts Stores Inc 408

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Kirk's Automotive Inc 385

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Battery Service Corporation 338.97

17 SWITCH:PARKING BRAKE 20PSI,N/C 2 WIRE072295 P&G Keene Elec Rebuilder

17 SWITCH:PARKING BRAKE 20PSI,N/C 2 WIRE072295 Neopart Transit LLC

17 SWITCH:PARKING BRAKE 20PSI,N/C 2 WIRE072295 Mohawk Manufacturing and Supply Co

4



RFQ Quotes Received 9 Invited Suppliers 38

Close Date Active Quotes 9 Intent to Participate 9

RFQ Currency Shortlisted Quotes 9 Responded 9

Line Summary AWARD 13113 No

Unit Quantity

Quote 

Quantity

Award 

Quantity RankLine Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: RFQ 13113 - Bus Parts

13113

10/30/2023 10:00

USD

Assembly 2 2 3

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Assembly 2

Piece 15

Piece 15

Piece 15

Piece 15

Piece 15

Piece 15

Piece 15

Piece 15

Piece 15

Piece 2 2 2 1

Piece 2 2 2

Piece 2

Piece 2

Piece 2

Piece 2

Piece 2

Piece 2

Piece 2

Piece 6

Piece 6

Piece 6

Piece 6

Piece 6

Piece 6

Piece 6

Piece 6

Piece 6

Assembly 3

Assembly 3

Assembly 3

Assembly 3

Assembly 3

Assembly 3

Assembly 3

Assembly 3

Assembly 3

Assembly 6

Assembly 6

Assembly 6

Assembly 6

Assembly 6

Assembly 6

Assembly 628 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Neopart Transit LLC

28 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Muncie Transit Supply

28 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Mohawk Manufacturing and Supply Co

28 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Kirk's Automotive Inc

28 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Illinois Auto Central

28 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Battery Service Corporation

28 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 A&A Auto Parts Stores Inc

27 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 The Aftermarket Parts Company LLC

27 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 P&G Keene Elec Rebuilder

27 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Neopart Transit LLC

27 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Muncie Transit Supply

27 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Mohawk Manufacturing and Supply Co

27 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Kirk's Automotive Inc

27 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Illinois Auto Central

27 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Battery Service Corporation

27 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 A&A Auto Parts Stores Inc

26 PANEL:DASHBOARD ASM IP G3 PANEL0710129 The Aftermarket Parts Company LLC

26 PANEL:DASHBOARD ASM IP G3 PANEL0710129 P&G Keene Elec Rebuilder

26 PANEL:DASHBOARD ASM IP G3 PANEL0710129 Neopart Transit LLC

26 PANEL:DASHBOARD ASM IP G3 PANEL0710129 Muncie Transit Supply

26 PANEL:DASHBOARD ASM IP G3 PANEL0710129 Mohawk Manufacturing and Supply Co

26 PANEL:DASHBOARD ASM IP G3 PANEL0710129 Kirk's Automotive Inc

26 PANEL:DASHBOARD ASM IP G3 PANEL0710129 Illinois Auto Central

26 PANEL:DASHBOARD ASM IP G3 PANEL0710129 Battery Service Corporation

26 PANEL:DASHBOARD ASM IP G3 PANEL0710129 A&A Auto Parts Stores Inc

25 ALTERNATOR:28V, 525 AMP, NEW 0710119 P&G Keene Elec Rebuilder

25 ALTERNATOR:28V, 525 AMP, NEW 0710119 Neopart Transit LLC

25 ALTERNATOR:28V, 525 AMP, NEW 0710119 Muncie Transit Supply

25 ALTERNATOR:28V, 525 AMP, NEW 0710119 Mohawk Manufacturing and Supply Co

25 ALTERNATOR:28V, 525 AMP, NEW 0710119 Illinois Auto Central

25 ALTERNATOR:28V, 525 AMP, NEW 0710119 Battery Service Corporation

25 ALTERNATOR:28V, 525 AMP, NEW 0710119 A&A Auto Parts Stores Inc

25 ALTERNATOR:28V, 525 AMP, NEW 0710119 The Aftermarket Parts Company LLC 4749

25 ALTERNATOR:28V, 525 AMP, NEW 0710119 Kirk's Automotive Inc 3149.72

24 PANEL:SIDE SWITCH PANEL 0710105 The Aftermarket Parts Company LLC

24 PANEL:SIDE SWITCH PANEL 0710105 P&G Keene Elec Rebuilder

24 PANEL:SIDE SWITCH PANEL 0710105 Neopart Transit LLC

24 PANEL:SIDE SWITCH PANEL 0710105 Muncie Transit Supply

24 PANEL:SIDE SWITCH PANEL 0710105 Mohawk Manufacturing and Supply Co

24 PANEL:SIDE SWITCH PANEL 0710105 Kirk's Automotive Inc

24 PANEL:SIDE SWITCH PANEL 0710105 Illinois Auto Central

24 PANEL:SIDE SWITCH PANEL 0710105 Battery Service Corporation

24 PANEL:SIDE SWITCH PANEL 0710105 A&A Auto Parts Stores Inc

23 ALTERNATOR: NEW ENGINE WITH CABLE CLAMP,PULLEY,REGULATOR ALTERNATOR0710052 The Aftermarket Parts Company LLC

23 ALTERNATOR: NEW ENGINE WITH CABLE CLAMP,PULLEY,REGULATOR ALTERNATOR0710052 Neopart Transit LLC

23 ALTERNATOR: NEW ENGINE WITH CABLE CLAMP,PULLEY,REGULATOR ALTERNATOR0710052 Mohawk Manufacturing and Supply Co

23 ALTERNATOR: NEW ENGINE WITH CABLE CLAMP,PULLEY,REGULATOR ALTERNATOR0710052 Illinois Auto Central

23 ALTERNATOR: NEW ENGINE WITH CABLE CLAMP,PULLEY,REGULATOR ALTERNATOR0710052 Battery Service Corporation

23 ALTERNATOR: NEW ENGINE WITH CABLE CLAMP,PULLEY,REGULATOR ALTERNATOR0710052 A&A Auto Parts Stores Inc

23 ALTERNATOR: NEW ENGINE WITH CABLE CLAMP,PULLEY,REGULATOR ALTERNATOR0710052 Muncie Transit Supply 3097.88

5



RFQ Quotes Received 9 Invited Suppliers 38

Close Date Active Quotes 9 Intent to Participate 9

RFQ Currency Shortlisted Quotes 9 Responded 9

Line Summary AWARD 13113 No

Unit Quantity

Quote 

Quantity

Award 

Quantity RankLine Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: RFQ 13113 - Bus Parts

13113

10/30/2023 10:00

USD

Assembly 6

Assembly 6

Assembly 30

Assembly 30

Assembly 30

Assembly 30

Assembly 30

Assembly 30

Assembly 30

Assembly 30

Assembly 30

Assembly 5

Assembly 5

Assembly 5

Assembly 5

Assembly 5

Assembly 5

Assembly 5

Assembly 5

Assembly 5

Assembly 1 1 1 1

Assembly 1 1 2

Assembly 1 1 3

Assembly 1 1 4

Assembly 1

Assembly 1

Assembly 1

Assembly 1

Assembly 1

Assembly 10 10 10 1

Assembly 10

Assembly 10

Assembly 10

Assembly 10

Assembly 10

Assembly 10

Assembly 10

Assembly 10

Assembly 12 12 12 1

Assembly 12

Assembly 12

Assembly 12

Assembly 12

Assembly 12

Assembly 12

Assembly 12

Assembly 12

Assembly 6 6 6 1

Assembly 6

Assembly 634 CAMERA:INTERIOR IR W/MIC CAMERA6710012 Battery Service Corporation

34 CAMERA:INTERIOR IR W/MIC CAMERA6710012 A&A Auto Parts Stores Inc

34 CAMERA:INTERIOR IR W/MIC CAMERA6710012 The Aftermarket Parts Company LLC 602.14

33 CAMERA:CURBSIDE EXT CAMERA 6710006 P&G Keene Elec Rebuilder

33 CAMERA:CURBSIDE EXT CAMERA 6710006 Neopart Transit LLC

33 CAMERA:CURBSIDE EXT CAMERA 6710006 Muncie Transit Supply

33 CAMERA:CURBSIDE EXT CAMERA 6710006 Mohawk Manufacturing and Supply Co

33 CAMERA:CURBSIDE EXT CAMERA 6710006 Kirk's Automotive Inc

33 CAMERA:CURBSIDE EXT CAMERA 6710006 Illinois Auto Central

33 CAMERA:CURBSIDE EXT CAMERA 6710006 Battery Service Corporation

33 CAMERA:CURBSIDE EXT CAMERA 6710006 A&A Auto Parts Stores Inc

33 CAMERA:CURBSIDE EXT CAMERA 6710006 The Aftermarket Parts Company LLC 568.92

32 CAMERA:CURBSIDE EXT CAMERA 6710006 P&G Keene Elec Rebuilder

32 CAMERA:CURBSIDE EXT CAMERA 6710006 Neopart Transit LLC

32 CAMERA:CURBSIDE EXT CAMERA 6710006 Muncie Transit Supply

32 CAMERA:CURBSIDE EXT CAMERA 6710006 Mohawk Manufacturing and Supply Co

32 CAMERA:CURBSIDE EXT CAMERA 6710006 Kirk's Automotive Inc

32 CAMERA:CURBSIDE EXT CAMERA 6710006 Illinois Auto Central

32 CAMERA:CURBSIDE EXT CAMERA 6710006 Battery Service Corporation

32 CAMERA:CURBSIDE EXT CAMERA 6710006 A&A Auto Parts Stores Inc

32 CAMERA:CURBSIDE EXT CAMERA 6710006 The Aftermarket Parts Company LLC 568.92

31 REGULATOR: VOLTAGE, CUMMINS ISB, CM2350B1010710168 Neopart Transit LLC

31 REGULATOR: VOLTAGE, CUMMINS ISB, CM2350B1010710168 Mohawk Manufacturing and Supply Co

31 REGULATOR: VOLTAGE, CUMMINS ISB, CM2350B1010710168 Illinois Auto Central

31 REGULATOR: VOLTAGE, CUMMINS ISB, CM2350B1010710168 Battery Service Corporation

31 REGULATOR: VOLTAGE, CUMMINS ISB, CM2350B1010710168 A&A Auto Parts Stores Inc

31 REGULATOR: VOLTAGE, CUMMINS ISB, CM2350B1010710168 The Aftermarket Parts Company LLC 678.5

31 REGULATOR: VOLTAGE, CUMMINS ISB, CM2350B1010710168 Muncie Transit Supply 603.45

31 REGULATOR: VOLTAGE, CUMMINS ISB, CM2350B1010710168 P&G Keene Elec Rebuilder 460.93

31 REGULATOR: VOLTAGE, CUMMINS ISB, CM2350B1010710168 Kirk's Automotive Inc 460.92

30 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 The Aftermarket Parts Company LLC

30 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 P&G Keene Elec Rebuilder

30 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Neopart Transit LLC

30 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Muncie Transit Supply

30 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Mohawk Manufacturing and Supply Co

30 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Kirk's Automotive Inc

30 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Illinois Auto Central

30 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Battery Service Corporation

30 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 A&A Auto Parts Stores Inc

29 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 The Aftermarket Parts Company LLC

29 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 P&G Keene Elec Rebuilder

29 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Neopart Transit LLC

29 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Muncie Transit Supply

29 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Mohawk Manufacturing and Supply Co

29 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Kirk's Automotive Inc

29 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Illinois Auto Central

29 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 Battery Service Corporation

29 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 A&A Auto Parts Stores Inc

28 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 The Aftermarket Parts Company LLC

28 PANEL:ELECTRICAL SINGLE MIRROR CONTROL PANEL0710130 P&G Keene Elec Rebuilder

6



RFQ Quotes Received 9 Invited Suppliers 38

Close Date Active Quotes 9 Intent to Participate 9

RFQ Currency Shortlisted Quotes 9 Responded 9

Line Summary AWARD 13113 No

Unit Quantity

Quote 

Quantity

Award 

Quantity RankLine Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: RFQ 13113 - Bus Parts

13113

10/30/2023 10:00

USD

Assembly 6

Assembly 6

Assembly 6

Assembly 6

Assembly 6

Assembly 6

Assembly 8 8 8 1

Assembly 8

Assembly 8

Assembly 8

Assembly 8

Assembly 8

Assembly 8

Assembly 8

Assembly 8

Piece 3

Piece 3

Piece 3

Piece 3

Piece 3

Piece 3

Piece 3

Piece 3

Piece 3

Assembly 8 8 8 1

Assembly 8

Assembly 8

Assembly 8

Assembly 8

Assembly 8

Assembly 8

Assembly 8

Assembly 8

Assembly 6 6 6 1

Assembly 6

Assembly 6

Assembly 6

Assembly 6

Assembly 6

Assembly 6

Assembly 6

Assembly 6

Kit 5 5 5 1

Kit 5 5 2

Kit 5

Kit 5

Kit 5

Kit 5

Kit 5

Kit 539 CONNECTOR:DEUTSCH 12 PIN JUMP CONNECTOR0710242 Neopart Transit LLC

39 CONNECTOR:DEUTSCH 12 PIN JUMP CONNECTOR0710242 Mohawk Manufacturing and Supply Co

39 CONNECTOR:DEUTSCH 12 PIN JUMP CONNECTOR0710242 Kirk's Automotive Inc

39 CONNECTOR:DEUTSCH 12 PIN JUMP CONNECTOR0710242 Illinois Auto Central

39 CONNECTOR:DEUTSCH 12 PIN JUMP CONNECTOR0710242 Battery Service Corporation

39 CONNECTOR:DEUTSCH 12 PIN JUMP CONNECTOR0710242 A&A Auto Parts Stores Inc

39 CONNECTOR:DEUTSCH 12 PIN JUMP CONNECTOR0710242 Muncie Transit Supply 268.77

39 CONNECTOR:DEUTSCH 12 PIN JUMP CONNECTOR0710242 The Aftermarket Parts Company LLC 253.33

38 CAMERA:TAMPERED DOME 2.5MM CAMERA6710014 P&G Keene Elec Rebuilder

38 CAMERA:TAMPERED DOME 2.5MM CAMERA6710014 Neopart Transit LLC

38 CAMERA:TAMPERED DOME 2.5MM CAMERA6710014 Muncie Transit Supply

38 CAMERA:TAMPERED DOME 2.5MM CAMERA6710014 Mohawk Manufacturing and Supply Co

38 CAMERA:TAMPERED DOME 2.5MM CAMERA6710014 Kirk's Automotive Inc

38 CAMERA:TAMPERED DOME 2.5MM CAMERA6710014 Illinois Auto Central

38 CAMERA:TAMPERED DOME 2.5MM CAMERA6710014 Battery Service Corporation

38 CAMERA:TAMPERED DOME 2.5MM CAMERA6710014 A&A Auto Parts Stores Inc

38 CAMERA:TAMPERED DOME 2.5MM CAMERA6710014 The Aftermarket Parts Company LLC 602.14

37 CAMERA:TAMPERED DOME 2.5MM CAMERA6710014 P&G Keene Elec Rebuilder

37 CAMERA:TAMPERED DOME 2.5MM CAMERA6710014 Neopart Transit LLC

37 CAMERA:TAMPERED DOME 2.5MM CAMERA6710014 Muncie Transit Supply

37 CAMERA:TAMPERED DOME 2.5MM CAMERA6710014 Mohawk Manufacturing and Supply Co

37 CAMERA:TAMPERED DOME 2.5MM CAMERA6710014 Kirk's Automotive Inc

37 CAMERA:TAMPERED DOME 2.5MM CAMERA6710014 Illinois Auto Central

37 CAMERA:TAMPERED DOME 2.5MM CAMERA6710014 Battery Service Corporation

37 CAMERA:TAMPERED DOME 2.5MM CAMERA6710014 A&A Auto Parts Stores Inc

37 CAMERA:TAMPERED DOME 2.5MM CAMERA6710014 The Aftermarket Parts Company LLC 602.14

36 CHARGER: USB, DUAL PORT 0710187 The Aftermarket Parts Company LLC

36 CHARGER: USB, DUAL PORT 0710187 P&G Keene Elec Rebuilder

36 CHARGER: USB, DUAL PORT 0710187 Neopart Transit LLC

36 CHARGER: USB, DUAL PORT 0710187 Muncie Transit Supply

36 CHARGER: USB, DUAL PORT 0710187 Mohawk Manufacturing and Supply Co

36 CHARGER: USB, DUAL PORT 0710187 Kirk's Automotive Inc

36 CHARGER: USB, DUAL PORT 0710187 Illinois Auto Central

36 CHARGER: USB, DUAL PORT 0710187 Battery Service Corporation

36 CHARGER: USB, DUAL PORT 0710187 A&A Auto Parts Stores Inc

35 CAMERA:INTERIOR IR W/MIC CAMERA6710012 P&G Keene Elec Rebuilder

35 CAMERA:INTERIOR IR W/MIC CAMERA6710012 Neopart Transit LLC

35 CAMERA:INTERIOR IR W/MIC CAMERA6710012 Muncie Transit Supply

35 CAMERA:INTERIOR IR W/MIC CAMERA6710012 Mohawk Manufacturing and Supply Co

35 CAMERA:INTERIOR IR W/MIC CAMERA6710012 Kirk's Automotive Inc

35 CAMERA:INTERIOR IR W/MIC CAMERA6710012 Illinois Auto Central

35 CAMERA:INTERIOR IR W/MIC CAMERA6710012 Battery Service Corporation

35 CAMERA:INTERIOR IR W/MIC CAMERA6710012 A&A Auto Parts Stores Inc

35 CAMERA:INTERIOR IR W/MIC CAMERA6710012 The Aftermarket Parts Company LLC 602.14

34 CAMERA:INTERIOR IR W/MIC CAMERA6710012 P&G Keene Elec Rebuilder

34 CAMERA:INTERIOR IR W/MIC CAMERA6710012 Neopart Transit LLC

34 CAMERA:INTERIOR IR W/MIC CAMERA6710012 Muncie Transit Supply

34 CAMERA:INTERIOR IR W/MIC CAMERA6710012 Mohawk Manufacturing and Supply Co

34 CAMERA:INTERIOR IR W/MIC CAMERA6710012 Kirk's Automotive Inc

34 CAMERA:INTERIOR IR W/MIC CAMERA6710012 Illinois Auto Central

7



RFQ Quotes Received 9 Invited Suppliers 38

Close Date Active Quotes 9 Intent to Participate 9

RFQ Currency Shortlisted Quotes 9 Responded 9

Line Summary AWARD 13113 No

Unit Quantity

Quote 

Quantity

Award 

Quantity RankLine Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: RFQ 13113 - Bus Parts

13113

10/30/2023 10:00

USD

Kit 5

Piece 5

Piece 5

Piece 5

Piece 5

Piece 5

Piece 5

Piece 5

Piece 5

Piece 5

Piece 35

Piece 35

Piece 35

Piece 35

Piece 35

Piece 35

Piece 35

Piece 35

Piece 35

Assembly 4

Assembly 4

Assembly 4

Assembly 4

Assembly 4

Assembly 4

Assembly 4

Assembly 4

Assembly 4

Each 4 4 4 1

Each 4

Each 4

Each 4

Each 4

Each 4

Each 4

Each 4

Each 4

Piece 1

Piece 1

Piece 1

Piece 1

Piece 1

Piece 1

Piece 1

Piece 1

Piece 1

Piece 15

Piece 15

Piece 15

Piece 1545 PANEL:INSTRUMENT PANEL (PLASTIC ONLY) G3 PANEL0710366 Kirk's Automotive Inc

45 PANEL:INSTRUMENT PANEL (PLASTIC ONLY) G3 PANEL0710366 Illinois Auto Central

45 PANEL:INSTRUMENT PANEL (PLASTIC ONLY) G3 PANEL0710366 Battery Service Corporation

45 PANEL:INSTRUMENT PANEL (PLASTIC ONLY) G3 PANEL0710366 A&A Auto Parts Stores Inc

44 HARNESS:JUMPER DATA 2010 HARNESS0710335 The Aftermarket Parts Company LLC

44 HARNESS:JUMPER DATA 2010 HARNESS0710335 P&G Keene Elec Rebuilder

44 HARNESS:JUMPER DATA 2010 HARNESS0710335 Neopart Transit LLC

44 HARNESS:JUMPER DATA 2010 HARNESS0710335 Muncie Transit Supply

44 HARNESS:JUMPER DATA 2010 HARNESS0710335 Mohawk Manufacturing and Supply Co

44 HARNESS:JUMPER DATA 2010 HARNESS0710335 Kirk's Automotive Inc

44 HARNESS:JUMPER DATA 2010 HARNESS0710335 Illinois Auto Central

44 HARNESS:JUMPER DATA 2010 HARNESS0710335 Battery Service Corporation

44 HARNESS:JUMPER DATA 2010 HARNESS0710335 A&A Auto Parts Stores Inc

43 SENSOR:CABLE PROXIMITY SENSOR0710303 P&G Keene Elec Rebuilder

43 SENSOR:CABLE PROXIMITY SENSOR0710303 Neopart Transit LLC

43 SENSOR:CABLE PROXIMITY SENSOR0710303 Muncie Transit Supply

43 SENSOR:CABLE PROXIMITY SENSOR0710303 Mohawk Manufacturing and Supply Co

43 SENSOR:CABLE PROXIMITY SENSOR0710303 Kirk's Automotive Inc

43 SENSOR:CABLE PROXIMITY SENSOR0710303 Illinois Auto Central

43 SENSOR:CABLE PROXIMITY SENSOR0710303 Battery Service Corporation

43 SENSOR:CABLE PROXIMITY SENSOR0710303 A&A Auto Parts Stores Inc

43 SENSOR:CABLE PROXIMITY SENSOR0710303 The Aftermarket Parts Company LLC 410.83

42 PANEL:SIDE SWITCH PANEL,COMPLETE W/ SWITCHES0710278 The Aftermarket Parts Company LLC

42 PANEL:SIDE SWITCH PANEL,COMPLETE W/ SWITCHES0710278 P&G Keene Elec Rebuilder

42 PANEL:SIDE SWITCH PANEL,COMPLETE W/ SWITCHES0710278 Neopart Transit LLC

42 PANEL:SIDE SWITCH PANEL,COMPLETE W/ SWITCHES0710278 Muncie Transit Supply

42 PANEL:SIDE SWITCH PANEL,COMPLETE W/ SWITCHES0710278 Mohawk Manufacturing and Supply Co

42 PANEL:SIDE SWITCH PANEL,COMPLETE W/ SWITCHES0710278 Kirk's Automotive Inc

42 PANEL:SIDE SWITCH PANEL,COMPLETE W/ SWITCHES0710278 Illinois Auto Central

42 PANEL:SIDE SWITCH PANEL,COMPLETE W/ SWITCHES0710278 Battery Service Corporation

42 PANEL:SIDE SWITCH PANEL,COMPLETE W/ SWITCHES0710278 A&A Auto Parts Stores Inc

41 PANEL:DAY/NIGHT RUN PANEL 0710247 The Aftermarket Parts Company LLC

41 PANEL:DAY/NIGHT RUN PANEL 0710247 P&G Keene Elec Rebuilder

41 PANEL:DAY/NIGHT RUN PANEL 0710247 Neopart Transit LLC

41 PANEL:DAY/NIGHT RUN PANEL 0710247 Muncie Transit Supply

41 PANEL:DAY/NIGHT RUN PANEL 0710247 Mohawk Manufacturing and Supply Co

41 PANEL:DAY/NIGHT RUN PANEL 0710247 Kirk's Automotive Inc

41 PANEL:DAY/NIGHT RUN PANEL 0710247 Illinois Auto Central

41 PANEL:DAY/NIGHT RUN PANEL 0710247 Battery Service Corporation

41 PANEL:DAY/NIGHT RUN PANEL 0710247 A&A Auto Parts Stores Inc

40 PANEL:DAY/NIGHT RUN PANEL 0710247 The Aftermarket Parts Company LLC

40 PANEL:DAY/NIGHT RUN PANEL 0710247 P&G Keene Elec Rebuilder

40 PANEL:DAY/NIGHT RUN PANEL 0710247 Neopart Transit LLC

40 PANEL:DAY/NIGHT RUN PANEL 0710247 Muncie Transit Supply

40 PANEL:DAY/NIGHT RUN PANEL 0710247 Mohawk Manufacturing and Supply Co

40 PANEL:DAY/NIGHT RUN PANEL 0710247 Kirk's Automotive Inc

40 PANEL:DAY/NIGHT RUN PANEL 0710247 Illinois Auto Central

40 PANEL:DAY/NIGHT RUN PANEL 0710247 Battery Service Corporation

40 PANEL:DAY/NIGHT RUN PANEL 0710247 A&A Auto Parts Stores Inc

39 CONNECTOR:DEUTSCH 12 PIN JUMP CONNECTOR0710242 P&G Keene Elec Rebuilder

8



RFQ Quotes Received 9 Invited Suppliers 38

Close Date Active Quotes 9 Intent to Participate 9

RFQ Currency Shortlisted Quotes 9 Responded 9

Line Summary AWARD 13113 No

Unit Quantity

Quote 

Quantity

Award 

Quantity RankLine Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: RFQ 13113 - Bus Parts

13113

10/30/2023 10:00

USD

Piece 15

Piece 15

Piece 15

Piece 15

Piece 15

Piece 30 30 30 1

Piece 30 30 2

Piece 30 30 3

Piece 30

Piece 30

Piece 30

Piece 30

Piece 30

Piece 30

Piece 10

Piece 10

Piece 10

Piece 10

Piece 10

Piece 10

Piece 10

Piece 10

Piece 10

Assembly 3

Assembly 3

Assembly 3

Assembly 3

Assembly 3

Assembly 3

Assembly 3

Assembly 3

Assembly 3

File Download Time 10/30/2023 12:59

48 PANEL: DRIVER DASH PANEL(ASM IP AXESS G3 2013 3 GAUGE)0710465 The Aftermarket Parts Company LLC

48 PANEL: DRIVER DASH PANEL(ASM IP AXESS G3 2013 3 GAUGE)0710465 P&G Keene Elec Rebuilder

48 PANEL: DRIVER DASH PANEL(ASM IP AXESS G3 2013 3 GAUGE)0710465 Neopart Transit LLC

48 PANEL: DRIVER DASH PANEL(ASM IP AXESS G3 2013 3 GAUGE)0710465 Muncie Transit Supply

48 PANEL: DRIVER DASH PANEL(ASM IP AXESS G3 2013 3 GAUGE)0710465 Mohawk Manufacturing and Supply Co

48 PANEL: DRIVER DASH PANEL(ASM IP AXESS G3 2013 3 GAUGE)0710465 Kirk's Automotive Inc

48 PANEL: DRIVER DASH PANEL(ASM IP AXESS G3 2013 3 GAUGE)0710465 Illinois Auto Central

48 PANEL: DRIVER DASH PANEL(ASM IP AXESS G3 2013 3 GAUGE)0710465 Battery Service Corporation

48 PANEL: DRIVER DASH PANEL(ASM IP AXESS G3 2013 3 GAUGE)0710465 A&A Auto Parts Stores Inc

47 ADAPTER:HORN BUTTON ADAPTER0710439 The Aftermarket Parts Company LLC

47 ADAPTER:HORN BUTTON ADAPTER0710439 P&G Keene Elec Rebuilder

47 ADAPTER:HORN BUTTON ADAPTER0710439 Neopart Transit LLC

47 ADAPTER:HORN BUTTON ADAPTER0710439 Muncie Transit Supply

47 ADAPTER:HORN BUTTON ADAPTER0710439 Mohawk Manufacturing and Supply Co

47 ADAPTER:HORN BUTTON ADAPTER0710439 Kirk's Automotive Inc

47 ADAPTER:HORN BUTTON ADAPTER0710439 Illinois Auto Central

47 ADAPTER:HORN BUTTON ADAPTER0710439 Battery Service Corporation

47 ADAPTER:HORN BUTTON ADAPTER0710439 A&A Auto Parts Stores Inc

46 LAMP:FRONT CLEARANCE LAMP 0710374 P&G Keene Elec Rebuilder

46 LAMP:FRONT CLEARANCE LAMP 0710374 Neopart Transit LLC

46 LAMP:FRONT CLEARANCE LAMP 0710374 Kirk's Automotive Inc

46 LAMP:FRONT CLEARANCE LAMP 0710374 Illinois Auto Central

46 LAMP:FRONT CLEARANCE LAMP 0710374 Battery Service Corporation

46 LAMP:FRONT CLEARANCE LAMP 0710374 A&A Auto Parts Stores Inc

46 LAMP:FRONT CLEARANCE LAMP 0710374 Mohawk Manufacturing and Supply Co 34.62

46 LAMP:FRONT CLEARANCE LAMP 0710374 The Aftermarket Parts Company LLC 20.61

46 LAMP:FRONT CLEARANCE LAMP 0710374 Muncie Transit Supply 16.89

45 PANEL:INSTRUMENT PANEL (PLASTIC ONLY) G3 PANEL0710366 The Aftermarket Parts Company LLC

45 PANEL:INSTRUMENT PANEL (PLASTIC ONLY) G3 PANEL0710366 P&G Keene Elec Rebuilder

45 PANEL:INSTRUMENT PANEL (PLASTIC ONLY) G3 PANEL0710366 Neopart Transit LLC

45 PANEL:INSTRUMENT PANEL (PLASTIC ONLY) G3 PANEL0710366 Muncie Transit Supply

45 PANEL:INSTRUMENT PANEL (PLASTIC ONLY) G3 PANEL0710366 Mohawk Manufacturing and Supply Co

9


